1. Below is a picture of chlorophyll.
Would this molecule be soluble in water?
Why or why not?

No - it lawg kol aroon. + 0.l
* (- wondy cvw non polar

¥ DONPolowr dlogs not Aiasoivg

2. For each of the graphs at right,
describe what the graph indicates
about enzyme activity.

SOty psin = Ophimar Bunchion
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Interpretatmnof Images, Data/Graphs Assignment: Chemistry of Life
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CHO in chlorophiyit £

o Study 't.he..dié,grams, graphs, data sets, etc... that are shown below and then answer the questions that follow
" (with detail when necessary AND IN COMPLETE SENTENCES!!).
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AP Biology Name:

Interpretation of Data/Graphs Assignment: Chemistry of Life

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

4
Q.CL{\N

1. a. What types of
molecule is CH-OH
shown at
right?

How do you
know?

Dol sacanerices Cghajm % %u%am)
Craroutrenad by gldeosidic linkages

b. Would this molecule be soluble in water? Why or why not?
Nes - ks fany huctroxide (-0H) qoups rnake (- polas anc
Gitow it o form  H-oends !"zu(ﬂii% wj Hz

a. Which letter represents the

activation energy (E)? ©

b. Which letter represents the “free

energy” from this reaction? &

c. Is this reaction endergonic or
exergonic? Explain in detail how
you know.

Exe_rg@n‘m QAL VA

reieagec (A >T.)

Free energy

P d. This represents a reaction
Peacton coordnate NOT catalyzed by an

Enzyme. Draw in a line that
shows what energy profile of the
reaction would be if it was
catalyzed by an enzyme.

% Lo ocrivotion enerpy (6)




R AP Biology Name:
Interpretation of Images, Data/Graphs Assignment: Cells

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

C.(HINT: It surrounds the cell!)

[. a. What are the structures labeled. ..
A._Mivrochondina A
B. Naunieus
C. Lol mepnibrane.

b. Is this cell an animal cell or a plant cell? How
do youknow? Jnimalf Ceij— o Cedl wadtl
No centrol YOOI ¥

The picture at left shows an experiment in which a dialysis-tubing
Bag was filled with a mixture of 3% starch and 3% glucose and
Placed in a beaker of distilled water. The experimental set up was
Left (covered) on the lab table for 24 hours.

- 'E-»w.migsiswhiﬁg ]
bag with a. What are the expected results? Explain where you expect to
gomehind  find each of the molecules involved (water, starch, gl
& (oo, Hd 3% gliose nd each of the molecules involve« (water, starch, g ucose,
{»W o etc...) and what the concentration in each of the locations will
Dinifled be**%u&m Lorl] Mo oud of T \z:n% (1§ ‘“/DW*)

~Srancn witl Temain in T e (too (erce
‘o Po-an '\’hm%@h Tuloirg (.\501" 5 O% ot
=H10 Lo Moue iNto bc\% Q8% Hed iﬂ/t,wi) '
b. If IKI (Lugol’s Solution) was added to the distilied water in the beaker, explain what color changes you
would expect and where they would happen. ) '
L 1S yellow s funs Dlaish-olacke i preserce of drrcih

- lh;\)' e, = (ontoa s Shoun Uy |
o (é Feolupon it Fwn Dive-Vlace as \Ei Qaﬁﬁxg,.s
o Yine bc%

= Clsaida ba&'ﬁ:» ne stondny o
- Sousbion Srows yellow




3. a. What process is being shown in
This picture?

Mirous

b. What type of organism are these
cells from? How do you know?
Plant cells - Sopuare
Geit vt

¢. What part of the organism is this

sample from? Why is this a

good location to view this process?
— eristemic lone / roof™

= Pt §owos L\Uﬂ.‘ so oW
of cell divisim
d. What stage (phase) is
represented by the cells
numbered 1, 2, & 6? How do you know?

Mekaprast - chremasomes diaecl up atong center of cei|

f. In what stage (phase) are most of the cells is this picture? How do you know? What does this indicate
about what is happening during this stage (phase)? | nterpPNEIL - NUcleus/Nnutieot @Q%L’ﬂt“
= Caniis %vm\%/m%fm;rﬁ ‘ ‘“Lhmn}tﬁm&% hut:%\o\%
vetador STnaT IS (DNR st Yot wncdi ek’
\ eSS WY Cnvvviae O ty1 sﬂn) =

4. What is the relationship between g

cyclin, MPF, and mitosis/cytokinesis 8

as shown In the diagram at right? §

MPF = Moekwon o (H "P"‘"G‘ﬁﬁ) CEXTIYe hmi) {acre f‘% -
+ (o K~C{3c\: A (epmplex o
. ) Tirme
/‘\C‘MCUH -1 M‘PF =Ty bogis
hormpne
Cefimembrane
5. a. Is the hormone in this picture fat soluble?
. How do you know? N¢ —(annot-
Inadtive . @{)&.& \"j\\(b\k%/\ \\ \P\C\ (Z] \U\.L'\U’" C(‘
» Q?\(lgm& MenNMoiCuUNe.
R = Recepior
ook ?::;;L . b. Explain what is happening in this
‘ [SF picture? Give an example of a disease or
(Dioremone o1 s To fece P‘“’c&, X o physiological response that uses this
Causting ¥ o dhauntg Shap pathway. - G- protel s Cowpled feceplor
@ Rﬂtep{mr Then s The wechce T, < ey;) ¢ pinePnrre xo-.r'\d;m\c} i it 2

O vot ﬂé o5 ((DBP‘* 6‘(?) ciju.,\cc%u(\ Vorecuedowin

@5 Reticord & Orvrein dissoUoxs Gz Teceted axnd inds 4o LNTY YW, QL ud 1Y i+




B .AP.Biology Name:
Interpretation of Images, Data/Graphs Assignment: Cellular Energetics

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

1. - a. What 13 the relationship between
1 .s Germitating corn germination and cellular respiration?
: at 22°C Explain WHY'!
1.6 . A * = zazl .’)aﬂ oYy
T 4 Teeituiar respirodion ’%@* ‘
g ~ ‘
EN 1.0 Germinating corn ) ) )
S g ak 12°C b. What is the relationship between
s 7 temperature and cellular respiration?
£ 08 Explain WHY'!
0.4 ongerminating corn o
07 t22°C ¢ T temp = 1 gprminadion
' ongerminating corn )
0 g : 1h 1k A t12°C LA Qi S OS L DO ¢ s ol Lk ovr

eoli s ey Thaneloy LDORGYT0Of Ta ok
¢. Draw in a line that would represent mins,
Germinating corn at 15°C. (A cblng
trae of
Tl gespifedim

Time (minutes)

* Low cipsorption

2. a. What color and wavelength of light is i
reflected (NOT absorbed)? How do you g
know? E

Gﬂ“m@,'f\ [
g
=
g

* Low.e frthicescan in PoTusULTRSS o T N
A 400 500 600 700
violet blue green Yeliow orange red

b. What wavelength(s) increase the rate of
photosynthsis to increase? What
pigment does this correspond to? How
do you know? ’

~HBO N and LLO ruy

Relative effectiveness
in photosynthesils —»

';«* ™| = ! . i e 5 i 1 I : :
Chloropinyll o =100 Wigin felotive %00 560 600 700
CUOSorph on O TNoLL uwon &ier\o‘t’hﬁ Z violet blue green yellow orange red

¢.  What color would carotenoid pigments appear to
YOUR eye? How do you know?

Red e tlovs) Otange = Vown @iotos ptim
WL uoned s \‘Q:Q’\ec_f*ecﬂ\‘




AP Biology Name:

Interpretation of Images, Data/Graphs Assignment: Heredity

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

L.

At i et

a. Is this karyotype showing a male or a female? Explain how you know?
Maag - WY
b. Is this person “normal” or do they have a disorder? If so, which one? Explain how you know.
Trsorng 24 7 Bowon's Sundreree. 5 B cnromoyome 'y insreod of &

¢. What type of mutation would lead to this type of karyotype? Nondulsiund-iow.
a. How could this mutation affect 100% of the gametes? How could it affect 50% of the gametes?

~ 100 agguired 1 F oene & Tre GRS (eo0y or Sperv) hawe Prisomry

- 5%, %&.&LL&-QO\ {g the mrukasion Qs dluhi 06, ALOLOR et (chu-\ o LS Ce i dli uis oy
ot mﬁo&)} Ol U cestenced frson tre et & rsormy DU wbuld ciso have
2. a. What type of inheritance is shown in each pedigree below? Explain how you know! \ sorvy
a. What do the two pedigrees have in common? (rros0a ;m)
Bu&h showd 2CeLmL LG oot .
O Levamirednce. A

XX X xoy XXE

G B0 g
| & ﬁ ﬁ]ﬁ!&lé ﬁ éxxé PI B

@ L4 ¢ I
H’\.Um&am&il refesSiue XX 'SR G %Asﬁ\;uhuud
% Two wangpeired indivicuals Cain ‘ | - . R
euoe Q_%T\]Q.L‘f(’_d O&E‘Spﬁ-’\fé'lr "*Pf*\m\&s_,\ (LM,&%S ROALS (tn This

COse ~ Lx i oe.slq




3. A space probe discovers a planet inhabited by creatures that reproduce with the same hereditary patterns
seen in humans. Three of the phenotypic characteristics of these creatures are: height, antennae, and nose
morphology. Earth scientists were able to do some controlled breeding experiments with these organisms.
100 males and 100 females were used in the experiments and the results of a number of crosses are shown
below. Review this information and use it answer the questions that follow.

-t 1t
Cross I True-breeding tall creatures were crossed with true breeding short creatures. ALL of the F1 were tall. The

E F1 creatures were crossed and the following data was obtained.
|
E

- T Y
A~ F2 Phenotype Male Female k= sheed
AT hﬁg Tall 2575 2625 €200 2800 235!
. " I_‘E,Ltt— Short 1423 1375
2o ¢ L sroet ﬁl _ ' a6
Cross II: True breeding creatures WITH antefinae are crossed with true-breeding creatures WITHOUT antennae.

ALL of the Fl;{ad antennae. The F1 creatures were crossed and the following data was obtained. 31
\en

F2 Phenotype Male Female
WITH antennae 3125 3100 >35S =35
WITHOUT antennae 875 900
| % _ | - XOx”
Cross [II: Creatures that are true breeding for up snout are crossed with creatures with down TuTet§nouts.
ALL of the F1 offspring bad uptarned snouts. The F1 creatures were crossed and the following data was obtained.
¥ ¥ = morme (optusd)
D e F2 Phenotype Male Female ruoned
‘-\—\T._w__—u. Upturned Snout 1750 3475 X = dousn "
AR AKX Down Turned Snout - | 1750 0 \ ‘r?- l X X
V XY >{ 74 \ ; AKX 7(‘}.(“
_TTHA . oo vy )Y
Cross IV: True breeding tall, with antennae creatures were crossed with true breeding short, without antefinae

creatures. ALL of the F1 offspring were tall, with antennae. These F1 offspring were crossed with true breeding
short, without antennae creatures. The F2 data is in the table below.

) ‘ r =Tt Ao
\:\KQ%\*Q d ’a\%f\omPf‘ F2 Phenotype Male Female t A o X RO
(R OVIEEEE AR T Tall, WITH antennaeiyuq tye2 | 2360 2220 0:—\ ol A e
e P [+ >
¥ Sneuid Vot equel | Tall, WITHOUT antennae, | 220 = | 300 ~
xx:'% (, eam "\DW (oo (YD ¢ neLid “tb—x rl‘jﬁfw‘- trtm'\ t‘tA*"' ‘},;53':’“*
oY R4 s Short, WITH antennae ., 1| 26 ga nk 220 Yo ] ‘
Short, WITHOUT antennaem \ ,{?\ 2180 o, \ |
Yool ¢ conh ot = {000 ¢ [o 000 totral JCO‘.JL r VR

4

a. What conclusions can be drawn from cross I and cross II? Explain how the data supports your

conclusions. =\ioy %hk" awnd Gnkennol oo e ved inl e Huwdc,o.uu\ Pmm
ok Wn e tane (Simnple dovidiaat | reeestive) 3 foc T, ) (50
-, dota (ord F) leod thue Yo exprctect pranchypl ¢ cattod (3:1 for ¥z fé
b. What conclusions can be drawn from cross [11? Explain how the data supports your conclusions. '

$Nose. Morfnology 'S MY-iniad [oa % darmnowme), W dewn-fusuned
Srpud ouing Fre tecessive Froat. S Puanett Squanas aloose.
What conclusions can be drawn from cross IV? Explain how the data supports your conclusions.

a. Draw a picture of what this chromosome might look like with the genes “mapped.” (SHOW your
calculations!!!)
e geres bac \/\ei@rxi- and ontenmie Qe isdeed (on Same
CYWormo senne , .
= Feeomipinanon Freguenuy = Feto enipcnants/ el ofpring = 1veg/ic 000 = Q. |
map wnir = VY vetmbinanm G egqaani = 0%




AP Biology Name:
Interpretation of Images, Data/Graphs Assignment: Molecular Genetics & Biotech

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

1. Compare the two DNA sequences shown below. Transcribe them into mRNA and translate them into an
amino acid sequence.

a. GTG CAC CTC ACT CCA{GAG|GAG (Normal Hemoglobin)
mRNA-> CHC GUE ORG aRGau utioud-
amino acids-> tig Vel (Glu Stwp Gly Len Las

b. GTG CAC CTC ACT CCA\GTG AG (Sickle Cell Hemoglobin)
mRNA-> ¢ AC QUG GRG UGH GHWEAC L e

amino acids> Mis Vel & Shp (‘Al\f His e

a. Circle any differences there are in the DNA, RNA and amino acid sequences that might exist between

these two sequences.
b. Identify the type of mutation that is represented AND EXPLAIN; IN DETAIL, what effect this would

have on the protein/pigment (be sure to mention the types of functional groups on the amino acids and

how this would affect shape of the molecule). ‘

B O BYY — GO Ses ¥ obarnic e (hwdro phi Wie) b ipe replacd wf
Uoki na (had e pnoloic) in The GHn pestiNon of hemogyobi s
~ @aleein dresen :
‘ RS cates Qoreaai on oF PRNOGVODIN distpering PRES (ke Wick te

2. You can diagnose Sickle Cell Anemia prenatally by running a DNA gel. For prenatal diagnosis you Shepot

need to know that there is a restriction enzyme (ER) which normally recognizes and cleaves the gene at

the 6th codon, among other sites, producing a DNA fragment of 1.1 Kb. The mutation responsible for

the disease eliminates this site at codon 6. Because the next site is farther on the gene, the fragment will

be of 1.3 Kb. Then, by electrophoresis of the DNA, it is possible to discriminate the normal

homozygotes (NN), the heterozygotes (NS) and the affected homozygotes (SS). See the figure below:

LBk = saie cetl conemia £ CER

] Lo} K%:_r‘m Sicigle ce ll e e : '

Using the figure at right and the information above
“diagnose™ the patients in the gel shown below.

A B C D E F

7 fetectraphoresia T

A=%5
B=n5

D=NS
E=NN
F=NS




3. The restriction enzyme EcoRI cleaves double-stranded DNA at the sequence 5'-GAATTC-3' and
therestriction enzyme HindIII cleaves at 5-AAGCTT-3". A 20 kb circular plasmid is digested with each
enzyme individually and then in combination, and the resulting fragment sizes are determined by means
of electrophoresis. The results are as follows:

EcoRI alone fragments of 6 kb and 14 kb
HindIlI alone fragments of 7 kb and 13 kb
EcoRI and HindIIl fragments of 2kb, 4kb, 5 kb and 9kb

Make a diagram of the circular molecule and indicate the relative positions of the EcoRI and HindIII
restriction sites. (Hint: place one EcoRI site at '12 o'clock’ and position the remainder relative to this
site.)

EcoT (1)
N

2

/ Fog Q«Y(_l@)

Rndm

W

4. In a molecular biology laboratory, a studergg gbtamed competent E. coli cells and used a common
transformation procedure to induce the uptake of plasmid DNA with a gene for resistance to the
antibiotic kanamycin. The results below were obtained. LB=lysos Brovih

L [ = . @\j‘

&Q o Pty
PN Suiosteuncg
uteel o ¢ w

ackerio
Plate i Plate II. Plate [ Piate Iy,
LB agar LB agar with kanamycin LB agar LB ager with kanamycin
+kan plasmid +kan plasmid no plasmid added no plasinid added

a. What is the purpose of Plate IV? Used a5 conipt 4o s o e rontranstoried € et waol aotarow
b. Explain the growth you see and the type of bacteria (transformed vs. non-transformed or both)iy IR
that would be on Plate 1. Borin trosshoreeed cunel rontrantfosreedd. 0% YgLroaryv
+ Poacxerao. oo ewidg ¥ Some. oy ke Tedoin UE Dt , Wl Sore vaeyy not |
tmw EDTV % s.wmre%* o mra s e K&"’\Mg‘\iﬁio Preseat Yo Wity Tho@ T dadh aest,

c. Explain the growth you see and the type of bacteria (transformed vs, non-transformed or both) _
that would be on Plate I1. Orasy looCiiui e Head NGS todun vp pasnid (ﬁm&@omﬁo
Cour SaurVive oy o Plees? CovTTouaine K-ounoany Gl

e Guaas oF Rt Ceplestid Cul Crisd of DoLer e et have Yoan Tromskormect

5. A student has forgotten which antibiotic plasmid she used in her E. coli transformation. It could have Grcthus
been kanamycin, ampicillin, or tetracycline. She decides to make up a special set of plates to determine Buevive
the type of antibiotic used. The plates below show the results of the test. Which antibiotic plasmid has

been used? Kenoorayein Terrooycdi e

ﬂﬂ\pmm i L% aee s
*‘%Tii-rmcu\cl;m - ondig V638 (phiar tiron control) Lavio, bocteria O




AP Biology Name:
Interpretation of Images, Data/Graphs Assignment: Evolutionary Biology

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

L. You sample 1.000 individuals from a large population for the MN blood group, which can easily be measured
since co-dominance is involved (i.e., you can detect the heterozygotes). They are typed accordingly:

A 1Yot GO Cores Sr “HY ood TN Gonoeps o0 PECS, ust \ive BBD b\:l?od Gumon, fe,%-u;
NUMBER OF RESUTTING & onpens
BLOOD TYPE GENOTYPE INDIVIDUALS FREQUENCY
M MM ‘?Q 490 4y 1000 = 0. 44 = 49%
MN IVIN Q_P(,b 420 HW/IO{)D = O:J’{:}—: L*Q'&/ﬁ
N NN ot 90 %o/ 000 = 0.0 =%,

L WMN Diood Qrowp WM Y 1G0R ecl L& Thesy dho ot ustvake Sfrongy ivnonologg call vng
Using the data provide above, calculate the following: ' Ve RO otoes

a. Label each of the genotype with the appropriate variable (p2, 2pq, q2)
b. Determine the “resulting frequency” of each genotype in the population. SHOW YOUR WORK!!
pr=oua §=0.3 (prq 1) Dpg=3{0FYa3)=0.42
p=0.F 2=0.0% ,
¢. Determme the frequency of each allele in the population. SHOW YOUR WORK!! ( Sae cubOW»)
b= %-@‘"‘UU&W% of "M aude S0 F=F0%

RN gmwr\% of UNY coale = 0082 Bots

2. Phylogeny is the evolutionary history of a species. AP Bio 2009 Free Response > Quesbion D
a. Based on the data in the table below, draw a phylogenetic tree that reflects the evolutionary relationships
of the organisms based on the differences in their cytochrome ¢ amino-acid sequences.
b. Explain the relationships of the organisms.
c. Based on the data, identify which organism is most closely related to the chicken and explain your
choice. Proguin — \mos jowest digprenas fypen cudeens (legy digpprnnes = p
More Closelny Telaldl
THE NUMBER OF AMINO ACID DIFFERENCES IN CYTOCHROME ¢ AMONG VARIOUS B

ORGANISMS
Horse Donkey Chicken Penguin Snake
Horse 0 1 11 13 21
Donkey 0 10 12 20
Chicken ' 0 3 ; 18
. Donty

Pepguin v 2, : Cinicics @ 17
Snake > noJe- Pm%w v Shdan Vs g

E}'Sh&’u Iy LLost Crosely
Tloxed 4o olhec Groups
{ roost cugie't BA wbmﬂe)

T ten uin\/ (g oo Clowadng
Tevead (B

~ Donteg / Viosse Closely Teio d (_ma.m!mo&&)




.. AP Biology ‘ Name:
Interpretation of Images, Data/Graphs Assignment: Diversity of Life
Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow

(with detail when necessary AND IN COMPLETE SENTENCES!!).
\%mwbo{—lac eliati eukehcte

1. The picture at right shows what Enguifiment-
theoretical process?
Endo sy mici oS
2. Is this primary or secondary?
Secondoiud

3. Which organisms (a, b, c, or d)
are eukaryotic? How do you know? ‘
f,¢,0 - contann tueuss (biue ) eybeint ¢ necasdtiviio-
prytre cal

4. Which organism (a, b, ¢, or d)

are photosynthestic? How do mmeum&—# One or%am%’ﬂ emcém%*s el

you know? e condang {Dmomux of aryy @
¢, D~0mb o Secondan = PAOBS s engallited Ul

% L aunetneyr ?Tze%cmrc,i M&“\A{O’%‘i

\0 - : -
QNP (&(‘QL«"> (2 Cent (ormmon Y oul ot c;sm:estors

ONOSe
‘Sgnepornor@ny= ol Shaed oy ax Yoxe ord Their
5. Place the “synapomorphies” on the
tree at right.
a. Identify what the
Advantage of each of the
“synapomorphies” would be. ..
L flowers Wolp atiroc
Drogniams Hrpd it P
di spLre po e

il. seeds

noursiey and prorecs
ermprie ednle eddtwoing
Sor disprrsel

iil. vascular tissue

Altiws trecngport of He0/ nairients throsgnout Qe

« Porifera
6. Place the “synapomorphies™ on the n’m'nd
tree at right. (Don’t worry about the ) { &c\lu& idaria

numbers). _&J@V‘:‘) s -~ Ctenophora
W T v&q vty

A (\“ . Platyhelminthes
- \fm’m ' -pgwdmlom

P "-'\(?v A Arthropoda

Q()UW gag‘f“ Annelida

5 “ dollusca

4

~ Echinodermata




AP Biology Name:
Interpretation of Images, Data/Graphs Assignment: Plant Structure and Function

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

1. This 1s a cross section ¢ hiough what
part of the plant? SresA
" 2. s this a monocot or a dicot? How do you

know? dicet - vVoaeusor Dumalig s
eranged L n ey ngv\‘ :

4. What is the name of* sfructure B‘? VIV LJ'(
Lundids

Q- Sround 1 E,‘S\A.e_,/ Eith

18
_ 18
514 _
E 40 5. The graph at right shows the results of a
g : transpiration experiment. Use this
S s fan information to answer the following questions.
w08 pmztlight a. Why would you expect the fan and light
- 04 e INiSE conditions to have a higher rate of water loss
% 04 than room?
= 9.2
0

b. Why would you expect the mist to have a lower
rate of water loss than room?

Time Minutes)

c. Calculate the Transpiration rate for each condition.
Use the equation 2 (mL water loss @ 30 min — mL water loss @ 0 min)
{30 min — 0 min)

SHOW YOUR WORK!!!
Room= ¢~ OW\\,/ 20—~ oruny = Ql R0 = Qm\.,/m; o

Fan= | eiL- Owmi] DO~ Omnmun= e l30= 0,053 onf min

Light= 1 g‘mL_‘-"OmL/L?DO”‘OW\iﬁ*—' L2lac= OQ“{ ML—ij)
Mi O e lombL "—O!{‘\"\L/ oy Qe = O, oL 20 = O.0ami min
18t == G




mmf{}gpuraﬂ ; ;M(Pouaﬂ Sacs)

%
o
iy
L
1

' 6.What is summarized in the diagram at
right?

Hrgyospurm Uife Guue
a. Label the following in the diagram:
Martre Spefophyte, Ovide,
Angfer, Microspox’éngmm
Megasporagagium, Polén
T,]:IEC, 2, Speﬁﬂs Synf}l'/gids, A,V“.,h 2,
Polar Nutlei, Micgopyle

Hegasporangi win

Potea Vueiei

b. What Process is occurring at
the point labeled B?
Heqosis

¢. Are the red and black dots at
the point labeled C diploid or
haploid? Why is this important?
Haeploid - Loining ofF Tha
2 nagpiod c?gm L UMM
Yesiore diploid &F in zgaote
d. What process is taking place at the
point labeled A? Why is this

important?
Faoeniti oo ~ i\ﬂowg Cor Fﬂpﬂmqﬂm ?
M_.

GQ{W\» noJ'} ﬂ




AP Biology Name:

Interpretation of Images, Data/Graphs Assignment: Animal Structure and Function

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

1. What do the “internal” surfaces of the digestive,
Respiratory, and excretory systems have in common?
- Spaueiied ket vcnanging themicadt
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2. Using the picture at right of an “idealized” complex
animal, identify which systems are related to each
other and describe how they arerelated. ¢ +. .
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4. Inthe ECG/EKG at right, what is happening electrically  swave —
In the heart during the P wave? What is happening Twave
Electrically in the heart during the Q, R and T waves?
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5. Which immune response in shown in the picture below: cell mediated o Explain how you
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a. What are the “Y” shaped
molecules called? What i
is their role in the immune ﬁ
response?
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b. How are the “Y” shaped 6 | conceniration
Molecules responsible for
Immunological memory?
How relate to the diagram at right2>>>—>->->
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6. Fill in the blanks with the correct names of the parts of the nephron. Brogorad Oistod Tile.
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b. Where would there be a high \__Ng
concentration of ADH

receptors? What would
ADH do here?
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7.N ame 3 responses to insulin that would happen
at point number 3.

insulin

@ Liver Yoias vpgiuiose and
Sues (r Qs glyagen

(B Boaxy tedts take up ML

%»co&;

@ Rlocct %Lu(‘,o& JLe e s checlirg

8. Name/ responses to glucagons that would
happen at point 6.
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' AP Biology ‘ Name:
Interpretation of Images, Data/Graphs Assignment: Ecology and Behavioral Biology

Study the diagrams, graphs, data sets, etc... that are shown below and then answer the questions that follow
(with detail when necessary AND IN COMPLETE SENTENCES!!).

1. What biome is represented by the climatogram shown at right? Barrow, Alaska

a. How do you know?
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2. The diagram and graph at right shows data
obtained from the Murray River in

Austrailia.
a. What is the relationship between 30 - 15
the temperature of the river and the
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3. The graph at right shows penguin dive behavior studied over a 24 hour period.
a. At what time of day do the penguins
Make their deepest and longest dives®
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b. What relationship does there seem to 1

be between penguin diving behavior A

and time of day? g

i. Give at least two reasons for this PR
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4. What type of relationship is shown
in the graph? Bee vy us egjeies
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a. Explain how the population
numbers of the wolves
and the moose are related to
each other?
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5. What relationship is summarized
In this graph?
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a. (ive at least one reason that a
forest and/or a grassland
would have less runoff than
and orchard.
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